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SN AR
M AUS MM (STHY

Chel: MEIASI|BHES (el =3
_ _ SIEN
SA - H L SR(SH) - HRAMY - BS 0 & 24 e HRE2
01 XXSHHIA2EX 52,500 90,000 237,500
Ot = K4 (70ha) 52,500
SMoIEH3(=1) 617,960 566,460 51,500
= 501,250
< 116,710
403 XXISHMSKE01H 617,960 566,460 51,500
= 501,250
= 116,710
01 XXSHI=2EX 617,960 566,460 51,500
OoZASAHEZZ(1000H) 182,000
= 130,000
= 52,000
Os=ZsELHAES(16001) 100,800
= 72,000
= 28,800
OgEM2M=Z A& X (1,330ha) 335, 160
= 299,250
< 35,910
AMEEZMAD|BIEE S (2 1) 3,054,965 2,387,414 667,551
= 2,602,560
& 452,405
308 AtXIHMSOIH 65,000 0 65,000
= 50,000
= 15,000
01 AUXHHBAE2XEZ 65,000 0 65,000
OY A SMAQIZH (200 &) 65,000
= 50,000
= 15,000
403 XXIEHSA=01H 2,989,965 2,387,414 602,551
= 2,552,560
= 437,405
01 XXSHHMA2EX 2,989,965 2,387,414 602,551
OXE DTHHHAIA (12,000m" ) 90,480
= 69,600
< 20,880
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SN AR
M AUS MM (STHY

ol MEAS)IBIEE (649 &2
RA B SA(BH) - NRAY - B 01 e HRE2
gaErs(=1) = 116,583

403 [XIEHMSA=0lE 836,493 276,843 559,650
= 719,910
< 116,583
01 AX=MA2E X 836,493 276,843 559,650
OYMSHESGHI7THA) 35,763
= 27,510
= 8,253
OLLMSHESIEAHSS CIXIQIINL (20 2) 37,168
= 32,320
S 4,848
OZMESHSBHES NEEECHR A4
SH(1MHA) 34,822
= 30,280
S 4,542
OYgsEs MEAZAIE(19HA) 168,740
= 129,800
= 38,940
OULSHUXNSERSHE (1HA) 560,000
= 500,000
S 60,000
HEASASEHESH (=) 1,484,650 0 1,484,650
= 1,291,000
= 193,650
403 AXIEHHSH201H 1,484,650 0 1,484,650
= 1,291,000
s 193,650
01 AXSMA=2EX 1,484,650 0 1,484,650
OULXAEESEXI(2H L) 1,484,650
= 1,291,000
= 193,650
AHFIEXNE(ZD) 20,358 19,760 598
= 15,660
= 4,698
403 XXIEHHSA=201H 20,358 19,760 598
= 15,660




SN sl
A AUS MATH(SHHYSM/AY - ME)
CHol: MRIAS)|EHEE (CHel: &)
SN HB SR (BIH) - A - B S 0l &b S D=2
o T * - = S = &= Ol AFOH WS
403 XX SHSKH20IH = 4,698
01 KUXESHI=EX 20,358 19,760 598
O AEH X = 2 (3km) 20,358
= 15,660
= 4,698
MY =4 49,160,377 46,714,190 2,446,187
= 40,444,622
= 8,715,755
METRAZTLAY FA 7,850 3,600 4,250
202 oil 7,850 3,000 4,850
IENEEL 7,850 3,000 4,850
OMBNAZTHAIY YRXE 7,850
A2 #Al 2,400 2,900 A500
201 g2y 2,400 2,400 0
03 SALS HH 2,400 2,400 0
oOA=Y HAXIE 2,400
SORIIAY 2UHZ ¥ B 2,000 2,000 0
301 YPreEaz 2,000 2,000 0
10 SArAHIEAS 2,000 2,000 0
O PIIANY ZLEHY, BiiE 29 2,000
ZRAY(2D) 11,084,969 11,524,829 439,860
= 9,498,444
= 1,586,525
202 oil 7,000 0 7,000
= 7,000
01 2LHoItl 7,000 0 7,000
OZHUY RLEONHML N 7,000
= 7,000
206 T2l 1,852,230 2,087,908 £235,678
= 1,852,230
01 Mz 1,852,230 2,087,908 ~235,678
o220 1,852,230
= 1,852,230
403 XX SHSIHE0IH 9,225,739 9,436,921 A211,182




SA AP
H: AYS MPZH(SYHSSA/LY - ME)
CHel: ARt T4 (el &2
- _ - HEE
SN BHG(SH) - NRAY - BES Ofl &F o 0l ot o Hm= 2
403 XX SRS AH=0|H 2 7,639,214
= 1,586,525
01 KXSHR=E= 9,225,739 9,436,921 A211,182
CES=PN3= 9,225,739
OZa st 7,211,666
= 5,993,214
== 1,218,452
OEN EPIEY EES=TVEN) 92,700
= 81,000
== 11,700
ORI HARAE(1H2) 650,000
=2 500,000
== 150,000
OARISBIAIE A (10H2) 1,271,373
=2 1,085,000
= 206,373
2O RIIAY (21) 38,036, 148 35,132,861 2,908,287
2 30,920,878
= 7,115,270
202 OdHl 30,000 0 30,000
2 18,000
= 12,000
01 =LHoiH| 30,000 0 30,000
O=INRIIAY =& 30,000
= 18,000
S 12,000
403 KHXISHHISAHEO0l® 38,006, 148 35,132,861 2,873,287
2 30,902,878
== 7,103,270
01 XXISHIEEX 38,006, 148 35,132,861 2,873,287
O= I RIIAIY (35) 38,006, 148
OF &R (41,626ha) 29,952,757
=2 24,150,255
= 5,802,502
OZZ IR (265%) 3,059,874




S AEI22|
H: AU MATH(SHHYSM/LY - 4E)
e AT XA (92
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
= 2,563,997
[= 495,877
OLH2IHIOI QUNA A2 47 (4569 ) 4,993,517
= 4,188,626
[= 804,891
D2MAXIR(2D) 27,010 0 27,010
= 25,300
[= 1,710
403 AXIESHSXH=0lE 27,010 0 27,010
= 25,300
[= 1,710
01 XXSHMA=2EX 27,010 0 27,010
Ozto| 24 12,000
= 12,000
OREX ELIH(4ha) 15,010
= 13,300
[= 1,710
CIest Ests X4 104,500 155,600 A51,100
Li2t2 2235 A2 =0 A 3,000 2,700 300
201 LEr2HH| 2,000 2,200 A 200
03 BA2IHI 2,000 2,000 0
OUtZS 235 2EZX| ALK 2,000
202 O] 1,000 500 500
01 =2LHOIHI 1,000 500 500
OUZIZR 235 2EZX SHAIE=Z 1,000
3|2t9 = X4 F3A 1,500 1,700 A 200
202 OiH] 1,500 1,500 0
01 =2LHodbl 1,500 1,500 0
03l%olx =4 SHIXNE 1,500
5%% = A4 X 100,000 100,000 0
403 XXIESHSK=0lH 100,000 100,000 0
01 XXSHHMIEEBE 100,000 100,000 0
03| L9 = X4 100,000
AIAYI 6,838,058 5,457,617 1,380,441
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A A2t
B AUS MRTH(SHNLSA/YL - ME)
I LEELE LR
DA HB L CP(E) - HRAY - BAS 01l &+ o4 ais s
Ofl &4 4
308 AHXISH X SO0l& = 27,802
01 RXSHNBHNEXZ 166,808 133,340 33,468
OANEMEN0IS SHOHLIM XA (1721) 166,808
= 139,006
& 27,802
SHSINES =4(=21) 127,400 0 127,400
s 98,000
& 29,400
403 XXIEMS 201 127,400 0 127,400
s 98,000
= 29,400
01 XXIEHX2EX 127,400 0 127,400
O=SMIMEEHZH(1HL) 127,400
s 98,000
& 29,400
AHEXIZIEERE(21) 18,000 0 18,000
= 5,400
& 12,600
405 XH&HFSHI 18,000 0 18,000
= 5,400
& 12,600
01 XML EFHSHI 18,000 0 18,000
ORI EERF(14) 18,000
= 5,400
& 12,600
Atgiate] & 2H 24,708,629 22,662,192 2,046,437
= 13,924,920
s 4,601,635
= 6,182,074
Atglzte] & BEALY 17,400 14,179 3,221
202 O4dl 17,400 12,609 4,791
01 =Wobl 17,400 12,609 4,791
ostgdztel ¥ B8 #XXE 17,400
Kgaki2e s 29 11,519 14,580 A 3,061
201 Let3| 11,519 14,580 A 3,061




SN AR
BE: AUS MEES(SYHY

ool aEiPel U B (S &
_ _ SIEN
SN -ZH A (ZH) - MFAY - BES O AF K Ofl At ot Hlws2
01 ArR2elt 11,519 14,580 ~3,061
OX AT 2SS 2 11,519
AXEEAREE 10,000 10,000 0
202 01l 10,000 10,000 0
RENICE 10,000 10,000 0
OMNEE PREx 10,000
AXEE PLUEHER(2D) 107,935 122,229 A14,294
= 89,946
= 17,989
308 XiXIEHHISOIH 107,935 122,229 A 14,294
= 89,946
= 17,989
01 UXESHIANSEZ 107,935 122,229 14,294
OMXIFEX SLIE(1121) 107,935
= 89,946
= 17,989
AFEANRY (B D) 19,275,798 17,946,968 1,328,830
= 13,558,474
= 5,717,324
307 Q1201 & 611,614 0 611,614
= 428,130
= 183,484
05 QI29IEra 611,614 0 611,614
OAHEH ALY EFEE & T D} (6821) 266,696
= 186,687
= 80,009
©AHEXI 2 (950ha) 199,500
= 139,650
< 59,850
OAH &= 2 (32001 4 ) 145,418
= 101,793
< 43,625
401 Al&HILSOHY] 18, 134,634 17,532, 165 602,469
= 12,694,244
= 5,440,390




SN AR
HE: AUS NYTH(SYHYLA/YY - AE)
cel: faipe] 2 2BF (649 &2
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot Hlws2
01 A&l 17,696,576 17,107,116 589,460
OAHXIE A (7ha) 378,000
= 264,600
= 113,400
© &FALEH 01l 2 (3ha) 243,000
= 170, 100
= 72,900
©H5 = & (3kn) 569,390
= 398,573
= 170,817
OAHZ (5201 2 ) 12,889,112
= 9,022,379
= 3,866,733
OALUE ST 2 0H - (874 &) 2,001,918
= 1,401,343
= 600,575
oAt o] (LH)-3H A 180,000
= 126,000
= 54,000
o R B2 (1RHEA)-1HA 1,187,010
= 795,907
= 341,103
O R B2 (2R EA)-1IHA 298, 146
= 208,702
= 89,444
02 el 326,786 306,968 19,818
A A R 22 326,786
= 228,750
= 98,036
03 A& 11,272 118,081 A6,809
OAH AL 2 THE| 111,272
= 77,890
= 33,382
403 RXISH S K20 H 529,550 414,803 114,747
= 436, 100
= 93,450




SN AR
BB AYS MBES(SYHY

Gl At 22 2 BA (&2 &2
SA - EH .S (BH) - MBAY - B Ofl A o4 ggi HRS2
01 XXSHA=2EX 529,550 414,803 114,747
OARI A=A (89IHA) 529,550
= 436,100
< 93,450
NMEISAAIH (ZD) 394,973 0 394,973
= 276,500
== 118,473
401 AIEHIZL =204 394,973 0 394,973
= 276,500
= 118,473
01 Al&H] 394,973 0 394,973
ozMEBEIMNY= 70,497
= 49,348
& 21,149
ouEI=NMESA 324,476
= 227,152
== 97,324
LA (=21) 4,891,004 4,543,236 347,768
g 4,601,635
= 289,369
301 LBt A= 11,750 9,375 2,375
g 9,400
== 2,350
10 AL HIBAZ 11,750 9,375 2,375
OEIIAR G 11,750
g 9,400
= 2,350
403 XXISHHSA20|H 4,879,254 4,533,861 345,393
g 4,592,235
& 287,019
01 XXESHAE2EEX 4,879,254 4,533,861 345,393
O &I & (17.5km) 2,796,500
Fay 2,632,000
o= 164,500
O X IHZ(30.0km) 1,581,000
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